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E2 RA2CAEY 125,000 500,000 A 375,000
401 Al& I 28I 125,000 500,000 375,000
1T AIZHI 125,000 500,000 A 375,000
02USTEES(HA, 8257) 100,000
0 tAHE=Z =2 FHIZ At 25,000
g0t I Aol Zet A=A 120,000 220,000 100,000
= 60,000
[ia 60,000
401 AIEHI L 2 CHEI 120,000 220,000 100,000
= 60,000
s 60,000
01 A& HI 120,000 220,000 100,000
0 CCTV & XI (500 2) 120,000
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782,949

281,279
501,670

782,949

M

782,949

281,279
501,670

782,949

03 RIAHAZ2 A2

0Jl=23(& 2%

4

N

2,267,040 * 2¥ » 128

0 Jl=3 (et 159)

1,602,500 » 15& » 12&

g(ery) 2,267,040% = 298 * 43|
g (EH) 1,602,500% = 156F « 43

25,0003 = 17 = 401 « 123

0 S ExH| 50,000% = 1798 = 128

o
40
o
1
o

100,000& * 178 = 12&

o
=
ry
o
1
o

11,6208 = 17 = 40A12+ = 12&

O
0

o
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g
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1

139,320 + 2¢& » 1798 » 128

o
e
>
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w
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e
1
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92,880 « 1798 + 20

200,000& = 17& = 23]

300,000 = 4F * 13

0 S &l 3,000& = 1798 » 15¢€ » 123
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782,949
54,409

19,042
35,367

288,450
114,553
173,897
18,137
96,150
33,653
62,497
20,400
7,140
13,260
10,200
3,570
6,630
20,400

7,140
13,260

94,820

33,187
61,633

56,843

19,895
36,948

31,580
11,053
20,527
6,800
2,380
4,420
1,200
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3,213
5,967

782,949
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- _ _ RE]
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0 Mz AH| 50,000 * 1798 « 12&€ 10,200
o 3,570
= 6,630
0412 64,180
= 22,463
= 41,717
NESIAE = 5,363,029 3,330,911 2,032,118
= 20,000
2 500,000
= 18,000
= 327,950
= 4,497,079
ME==g-iPs| 5,301,598 3,265,910 2,035,688
= 20,000
2 500,000
= 18,000
= 327,950
= 4,435,648
HIAENH WESFXA 13,000 10,000 3,000
& 3,000
= 10,000
101 Q121 H] 13,000 10,000 3,000
= 3,000
= 10,000
04 JI2ZtHIZ22ANEE S 13,000 10,000 3,000
0 BHANLM HAdd DESFX AN C124H|(33]) 13,000
= 3,000
= 10,000
249 HRIINEZ2Z2 X & 1,515,000 1,800,000 A 285,000
307 QI2t0| & 1,515,000 1,800,000 A 285,000
09 2LHHEXZ 1,515,000 1,800,000 A 285,000
0SI2. NS KFRIAUAEBXZ 1,515,000
FHI o= 64,862 67,661 A2,799
101 e1214| 48,862 52,891 A4 029
04 J|12ZtHIZ22NEES 48,862 52,891 N4 ,029
0 =HXEE(49) 48,862
o Jlga 41,690 * 4% x 247 41,190
o =G 41,690& * 49 x 36Y 6,004
o EXRESELLEE 41,6908 * 4% x 10 1,668
201 et 16,000 14,770 1,230
01 AP 2t 2] d| 7,500 6,270 1,230
0 2bBt==H| 5,500
o S 2 AHY DA &3 4,000
o Gt AE|F 600
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0 Il =l 2,000
02 23224l 8,500 8,500 0

0 A& & HIsXIdl CCTV(5CH) 5,000

0 MEHE DXNANES EZ 3,500
HAs2ZE 4X 2 FHI 36,500 36,500 0
401 Al HI & 28I 36,500 36,500 0
01 A& HI 36,500 36,500 0

O HASZE AX(200a) 20,000

0 HASZE S 2eldl (20300 2) 16,500
E=XNEHINXNA AL 30,000 0 30,000
402 RI2HXt20l 30,000 0 30,000
01 2I2tR2E X 30,000 0 30,000

O W& F=X&E2I| X2 (30H) 30,000
g 2 17,216 3,330 13,886
101 1A Hl 12,216 0 12,216
04 JIZHHZ2XRHEES 12,216 0 12,216

0 MEHHE HMEEH=(1H) 12,216

o Ji2g 41,6903 * 198 = 247 10,298

o TR 41,6903 = 18 » 36 1,501

o EXReS5ZE 41,6003 18 » 10¢ 417
201 2et24d] 5,000 3,330 1,670
01 At 22l 5,000 3,330 1,670

0 MEHEAXIM HZ 5,000
dHA 2T 55,000 55,000 0
307 glz2tol & 55,000 55,000 0
09 2HAHAEXS 55,000 55,000 0

0dtsHOIE ~ 88w 25,000

0 ctsHOE ~ 83=H 15,000

042 ~ SHIHEDIE 15,000
HAXE EXE &X 15,000 15,000 0
401 Al& Bl 28I 15,000 15,000 0
04 A2t Al ZH| 15,000 15,000 0

0 =M &L A oHLf WS EXE = 15,000
HA 22 g2 28,500 28,500 0
201 L2l 28,500 28,500 0
01 At 22l 28,500 28,500 0

0 HARILO0IE & (100H) 28,500




SN ALDSD
By DESHYE
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= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
sy 2N 105,747 112,907 AT,160
101 @124 dl 12,507 11,667 840
04 DIt 22 XREES 12,507 11,667 840
0 ABHA REAHUHE AR
41,6903 = 20 = 15¢ 12,507
201 LB-2dH| 71,000 71,000 0
01 At 2t 2l 17,000 17,000 0
O ASHSES2E MA 505, DKM, a2
= 13,000
0 =&l 4,000
02 23=24gHl 50,000 50,000 0
0=5532= % HAl 50,000
03 A2 Z Hl 4,000 4,000 0
O AE=HEHAM nSHH 2|
1,000,000& * 43| 4,000
202 Odl 20,640 20,640 0
01 =2 LH YI 15,840 15,840 0
0 2LHAbI 170,000& » 69¥ » 128 12,240
0 22 ™ di 50,000& = 6Y » 123 3,600
02 M0 4,800 4,800 0
028 =X Haze
200,000& = 2% = 123 4,800
301 et a3 1,600 9,600 A8,000
11IIEESS 1,600 1,600 0
0 PHEXXE Mel=24 80,000& = 20CH 1,600
Hled &4843 250,674 250,674 0
< 70,000
i 180,674
307 glz2tol & 250,674 250,674 0
< 70,000
s 180,674
09 2+HAHEEXS 250,674 250,674 0
0 88X &=4a24a3(168km) 250,674
< 70,000
[ia 180,674
MU sHEH2A HHXHE XI& 65,000 0 65,000
& 18,000
[ia 47,000
307 21201 A 65,000 0 65,000
& 18,000
e 47,000
09 2+=HAHBXS 65,000 0 65,000
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0 88HA 2¢ 65,000
= 18,000
= 47,000
zsnsedst 146,099 144,538 1,561
o= 950
iy 145,149
101 @121l 139,399 144,538 N5,139
04 JIZtH2ZXNEE S 139,399 144,538 AN5,139
0 HACHH =<0 e1HH|(8Y) 139,399
o Jl23 41,690 * 8% x 300 100,056
o ALY 41,6903 * 8Y x 36Y 12,007
o EXNRSELSEE 41,6008 x 8% x 10¢ 3,336
o HMIHEHI 10,000& = 89 = 300 24,000
201 Bt A H| 4,800 0 4,800
01 At 22l ] 4,800 0 4,800
0222 Y 4,800
307 QI2t0| ™ 1,900 0 1,900
< 950
= 950
09 2 HEXZ 1,900 0 1,900
0 sHEWEIE XS 1,900
= 950
= 950
NWEAES 22 352,000 352,000 0
401 AIEHIL 20| 352,000 352,000 0
01 A& Hl 350,000 350,000 0
0 NECHM AIES 22| 350,000
o NSIY BFES Yl 150,000
o WESotAd HEXE AX 100,000
o JEIAIEE & SAE4 22l 100,000
03 A& 2 0HH] 2,000 2,000 0
0 AlE 20| 2,000
NEsHH BX3 25,000 3,800 21,200
307 212t0| & 25,000 3,800 21,200
02 AABNEXS 20,000 0 20,000
0 RHEH2EXE AMPA XX 20,000
03 M3IHAHEEXZS 5,000 3,800 1,200
Ootsza LY =2HX3 5,000
AMAHAEHDYE 22 25,000 0 25,000
307 212t0| & 25,000 0 25,000
02 0I2tFAEXTZ 25,000 0 25,000
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= 100,000
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S8ussH 24 162,000 150,000 12,000
= 20,000
& 2,000
= 140,000
307 2Iz2t0| A 122,000 120,000 2,000
o= 2,000
= 120,000
02 QI2tAAMNE X2 2,000 0 2,000
0 WEATZEA 0|2 SHE XA (404) 2,000
= 2,000
05 QIZtRES 120,000 120,000 0
0 DEAXSEUA KE 294 (404) 120,000
405 XH&HF S HI 40,000 30,000 10,000
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